
 

ա) 𝑥 = 8 − 5 

𝑥 = 3 

բ) 𝑥 = 20 − 2 

𝑥 = 18 

գ) 𝑥 =
9

4
−

5

4
 

9 − 5

4
=

4

4
= 1 

𝑥 = 1 

դ) 𝑥 =
14

7
+

13

7
 

𝑥 =
27

7
 

ե) 𝑥 =
2

1
+

5

3
 

𝑥 =
6 + 5

3
=

11

3
 

𝑥 =
11

3
 

զ) 𝑥 =
4

1
+

4

9
 

𝑥 =
36 + 4

9
=

40

9
 

𝑥 =
40

9
 

 

ա) ճիշտ է 

բ) ճիշտ է 

գ) ճիշտ է 

դ) ճիշտ է 



ե) ճիշտ է 

զ) ճիշտ է 

 

ա) − 7
1

5
∶ (  

2

3
 ) = −

36

5
•

3

2
= −

18 • 3

5 • 1
= −

54

5
 

բ) − 4
7

9
∶ ( −3

5

6
 ) =

43

9
•

6

23
=

43 • 2

3 • 23
=

86

69
 

գ) 
8

1
∶ ( − 12

1

2
 ) =

8

1
• ( −

2

25
 ) = −

8 • 2

1 • 25
= −

16

25
 

դ) − 5
6

7
∶ ( 2

3

4
 ) = −

41

7
 •

4

11
= −

41 • 4

7 • 11
= −

164

77
 

ե)
11

1
∶ ( 8

2

5
 ) =

11

1
•

5

42
=

11 • 5

1 • 42
=

55

42
 

զ) ( − 15
8

9
 ) ∶ ( 2

4

7
 ) = −

143

9
•

7

18
= −

143 • 7

9 • 18
= −

1001

162
 

 

ա) 𝑥 = − 4, − 3, − 2, − 1 

բ) 𝑥 = 0, 1, 2, 3, 4, 5 

գ) 𝑥 = − 1, 0, 1, 2, 3, 4, 5, 6, 7 

դ) 𝑥 = −3, −2, −1, 0, 1, 2 

ե) 𝑥 = 1, 2, 3 

զ) 𝑥 = −8, −7, −6, −5, −4, −3, −2, −1, 0, 1 

 

ա) 𝑥 = 1 ∶ 2 =
1

2
 

բ) 𝑥 = 4 ∶ 3 =
4

3
 



գ) 𝑥 = 20 ∶ 4 =
20

4
= 5 

դ) 𝑥 = 7 ∶ 8 =
7

8
 

 

1.  
2

1
•

1

3
•

6

1
=

2 • 1 • 6

1 • 3 • 1
=

4

1
= 4 

Ծավալ − 4 սմ 


